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Exercise-1

Q-1

1.A

2.B

3.A

4.A

5.B

Q-2

1.45+26

45+10+10+6=71

2.416+21

416+10+10+1=437



Q-3

1.65+23

65+20+3=88

2.532+36

532+30+6=568

Q-4

1.29+40

20+9+40=69

2.324+315

300+24+300+15=639

Q-5

1.

H T O

1

3 4 7

+ 6 3 9

Ans 9 8 6



2.

H T O

1

4 5 6

+ 2 3 4

Ans 6 9 0

3

H T O

1 1

5 9 3

+ 1 0 8

Ans 7 0 1

.

4.

H T O

1 1

2 8 9

+ 6 3 6

Ans 9 2 5



5.

H T O

4 7 3

+ 1 2 3

Ans 5 9 6

Exercise2.2

Q-1

1.

Th H T O

2 3 1 8

+ 7 2 4 1

Ans 9 5 5 9



2.

Th H T O

1 6 9 2

+ 7 3 0 5

Ans 8 9 9 7

3.

Th H T O

1 1

5 6 8 5

+ 3 2 6 7

Ans 8 9 5 2

4.

Th H T O

1 1

4 4 7 3

+ 2 9 4 4

Ans 7 4 1 7



5.

H T O

1 1 1

3 6 9 4

+ 3 7 4 8

Ans 7 4 4 2

Q-2

1.92

2.1

3.12

4.987

Exercise2.3

Q-1

1.Estimate

36=40

71.=70

Estimatesum =40+70=110

Actualsum =36+71=108



2.Estimate

144=140

87.=90

Estimatesum =140+90=230

Actualsum =144+87=231

3.Estimate

5745=5740

879=880

Estimatesum =5740+880=6620

Actualsum =5745+879=6624

4.Estimate

4182=4180

2103.=2100

Estimatesum =4180+2100=6280

Actualsum =4182+2103=6285



Q-21.

Statment-

Boysappearedforexamination=2894

Girlsappearedforexamination=4253

Th H T O

1 1

2 8 9 4

+ 4 2 5 3

Ans 7 1 4 7

Totalcandidatesappearedforexamination=7147

2.

Statment-

Numberofmangotrees=1578

Numberofguavatrees=967

Numberofpomegranatetrees=789

Th H T O

2 2 2

1 5 7 8

9 6 7

+ 7 8 9

Ans 3 3 3 4



3.

Statment

Numberofcarsinparkinglot=240

Numberofscootersinparkinglot=914

Th H T O

1

2 4 0

+ 9 1 4

Ans 1 1 5 4


